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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021
SECOND SEMESTER
ECONOMICS - MAIN
STATISTICAL METHODS - 11
(For those who joined in July 2017 onwards)

Time: Three hours Maximum : 75 marks

PART - A (10X1=10 marks)
Answer all the Questions Choose the Correct answer
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For rank correlation coecfficient p is lies between
a) —1l<p<tl b) -1<p=tl c) O<p<l d) —co<p<w
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The Correlatioen coelficient is independent of
a) Change of origin only b) Change of scale only
c) Both a and b d) Neither a nor b
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The period of oscillation for the periodic movements
1R a -time series. ig greater .than one year is c¢alled
a) Secular Trend b) Seasonal Variations
g} Cyelical Varintions d) None
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A long nun tendency of a time scriecs to increase or
decrease over aperiod of time is known as ;

a) Secular Trend b) Seasonal Variations
c) Cyclical Variations d) None
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With usual notat ions Paasche’s index number i1s
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Piasche index number is based on gquantities
a) Base year k) Current ¥Year

c) Both a and b d) neither a nor b
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The probability of drawing a spade from a pack of 52
cards 1is

a) =b) 3 c) 5d) g
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Two coins are tossed simultaneously, the probability
of getting a head and a tail is
; b e i

a) 2
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For any three given attributes to tal number of
negative class frequencies is ___.
a)8 b) 7 ¢) 3 d) 9
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For any four given attributes to tal number of positive
class frequencies is __ .
a) 15 b) 81 ¢} 17 d) 16




PARTB- (5 x5 = 25 Marks)
Answer ALL quest ions, choosing either (a) or (b)
Answer should not exceed 230 words.
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The following table gives aptitude test scores and

EL’
poductivity indices of 8 randomly selected workers:

Aptitude Score: 57 B D D &0 6l a2 &4

Roductivity &7 6 & 63 - - & 7
Index:

Calculate the correlation coefficient between

aptitude score and productivity index.
[OR]

%) @LOailelmig o Lar Cursms CaumuBsss.
Distinguish Regression from Correlation.

12. &) euenguL (penpuilar Gon Blepsamen UL IGUIIBHS.
Q. List the merits and demerits of Graghi ¢ Me thod.
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for 2012 on the base of 2011 on the
o famil budget method.
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b_ Find the cost of living index number for the following data in a middle
class family.
Price )
Item 2012 | 2013 Weight
Food 700 | 850 40
Clothing | 300 | 280 15
Rent 200 | 225 7
Medicine | 100 | 135 9
Misc. 475 | 425 23
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: Oné card is drawn at random from a well-shuffled pack of 52 cards.
What is the probability that it will be (a) diamond, (b) a queen?
OR -

21) Bapssals UsBap BHbEHIBMEN 6ilanobEs.
b) Explain the various concepts of probability

15. @i (A) = 30; (B) = 25; (a) = 30; (o) = 20 aaflst N, (B), (AB), (AB), (B}
ASlweuperpsd sremrs.

Given that (A) = 30; (B) = 25; (a) = 30; («B) = 20; Find N, (8), (AB), (AB) and
(oB).

(OR)

) (@) = 75; (B) = 90; (aB) = 50; N = 135 aafled B peiten LeRILE Hamsemen
SHLILG.

1_3 . Given (a) = 75; (B) = 90; (aB) = 50; N = 135; Find the remaining attributes.

PART C - (5 x 8 = 40 Marks)

Answer ALL questions, choosing either (a) or (b)
Answer should not exceed 600 words.
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sGaurA: [1]6[5]10]3]| 2]4]9]7]8
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@ . Ten competitors in a Musical test were ranked by three judges A, B and
C in the following order:

RanksbyA: |1/6[5|/10[/3] 2 [4]9 78

RanksbyB: |[3|5/8| 4 |7|/10]/2]| 1 [6]09

RanksbyC: |6]/4|9| 8 |1| 2 [3]10]|5]7

Using Rank Correlation method, discuss which pair of judges has the

nearest approach to common likings in music.
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Gummentgny wdliGlues : | 25|28 | 35|32 | 313629 |38 |34 |32
yeirefluiluwied mﬁﬂ@usﬁﬁr: 43146 (49(41 (3632|131 |30(33|39

From the following data given below, find the regression equations.

Marks in Economics : ah 128135132131 136129 |38 3; gg
M-rks in Statistics: 143146 [49141|36|32|31/30|3

/ 17 o) Gprd Gan fan usBsam UGHBDST 6ll6TiBG.

@ . Explain the components of Time Series.

OR

%) SpsaiL goecsepsstar om GriGsr e Blmieys.
X: |0 1 2 3 s
i i 2.1 135 184173 |82

> . Fit a Straight line to the following data

X: 0 1 2 3 4
b & 2.1 {3.5 |54 {73 |82

18. @) dpsain. ellsmsaiar oLl Naafar afliplus G0 O exrenemt
SESEIL[H DG BT  OIHMF Cemgenar  ommub asrrgaro‘gp wrpmE  Carsaaranis
Bleomey Qswidlnsr eren aflumiréaseyb.

2002 2003
Glur@er | syemey | allemed D616 alleney
9 8 80 10 120
< 10 120 12 96
8 5 40 7 50
¥ 4 56 3 60
o 20 100 AL 150

a . Calculate Fisher’s ideal index from the following data and prove that it
satisfies both the time reversal and factor reversal tests.

2002 2003
Commodity | Price | Expenditure | Price Expenditure
A 8 80 10 120
B 10 120 12 96
C 2 40 o 50
D - 56 3 60
E 20 100 25 50

| OR
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2015 2016
GlummeiT po qo p1 Qi
ey 12 I i5s | 12
e 15 i 20 5
o) 24 5 20 9
[ 5 16 5 14

,}) . Compute Index Number using Fisher’s Ideal formula.

2015 2016

Commodity | po qo p1 qi
12 10 156 12
15 7 20 5
24 S 20 9
5 16 5 14
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A Survey on city residents of readers shows that 50% of the residents read the morning paper, 60% read

the evening paper, and 20% read both news papers. Find the probability that a resident reads either the
morning or evening paper or both the papers.
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J) : A Candidate is selected for interview of management trainees for 3
companies. For the first company there are 12 candidates, for the second
there are 15 candidates and ior the third there are 10 candidates. What
are the chances of ' ° getting job at least at one of the company?

20. @) Bren® peymss A wpmwb B uildd @mpg @@ uleurent Sipaseni
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BT A paT B

Corés wasablsrans(y,wlymiseie) 240 234

L peuitaeir(yuilymiserfled) 40 34

UQEETS (GDmeuTesan(sy,wilymiseie) 40 20

uYss Gooeuteilser (ullymisans) 5 2
uguuplallh@h GDDELAGSmESEEEGD Ba Cuwnrer uatsailar 2 pailenen
euif Gleuis.
In two towns A and B, the following information was supplied by an
investigator:

Town A Town B

Total Population (in thousands) 240 234

Literates (in thousands) 40 34

Illiterate Criminals (in thousands) 40 20 .

Literate Criminals (in thousands) ] 2

Compare the degree of association between literacy and crime in each of
the two towns.

OR

1) SHmwaoTaaisandbgh Caalsd CafiuaTaend@l WwHHUTD @l SoubGHBUL BLEGUIULLLE. GHiay
sIupBw 2000 puiTseils 80% yuswieeil, Wapsitensuiiesii Queidsi. 300 Hplosmoren Syabidefso 140 Guir
Gaiellsd CamlwaiTaenteal. -Flpwemionsr yemisaisd 1100 Cxiallsy Geunmll Gummpent. 100 Hmioawiome
Guesiesilsy 40 Guir Gxiellst Glsumnfl Gubmsnit. 200 Aposwiwnsrd CusmisEnn Bairallsd Gaimn GCuLbmeT.
wedenr Gepalener &aiBUlgsHs Hmwsm Heneo Bsite) OCsaubpflent LTHSEBBSHT cIHILIMS elleuTd).
fp : A survey was conducted in respect of marital status and success in
examination. Out of 2000 persons who appeared for an examination,
80% of them were boys and the rest were girls. Among 300 married boys,
140 were successful. 1100 boys were successful among unmarried boys.
In respect of 100 married girls, 40 were successful. 200 unmarried girls
were successful. Find out the Yule’s coefficient of association te discuss
the association between marital status and successful in examination.



